Pythagorean Theorem
Putting “Pythagorean Theorem” in Recognizable terms:  The Pythagorean Theorem establishes the quantitative relationship between the three sides of any right triangle.  It applies to all right triangles.  A right triangle is any triangle that contains one right angle (90 degrees).
Putting “Pythagorean Theorem” in Conceptual terms:  The hypotenuse of a right triangle is the side across from the right angle.  The hypotenuse does not touch the right angle.  The other two sides, the sides that include the right angle, are called the “legs” of the right triangle.  These legs may be called “a” and “b”.  The hypotenuse is often called “c”.  The sum of the squares of the lengths of the legs of a right triangle is equal to the square of the length of the hypotenuse of that right triangle.

Putting “Pythagorean Theorem” in Mathematical terms:  a 2 + b 2 = c 2.  Then by algebraic rearrangement the following relationships are also true for all right triangles:
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2) a 2 = c 2 – b 2

and 

b 2 = c 2 – a 2
3) 
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Putting “Pythagorean Theorem” in Process terms:  Due to the Pythagorean Theorem, we can solve for any unknown side of a right triangle if we know the lengths of the other two sides (by simple substitution).
Putting “Pythagorean Theorem” in Applicable terms:  Drive the bot along a [straight] line from the origin.  Stop it at irregular (random) time intervals and estimate its position by looking at the coordinates of its position at rest.  Calculate the distance it has travelled by taking the square root of the sum of the squares of the legs of the right triangle formed by the x coordinate, the y coordinate, and the origin.
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